

Pay Estimate Created Date: July 1, 2025

Progress Estimate Number 2	Contract ID Prime Contractor	240816 Pace Co	-H03 onstruction Company,	LLC	Pay Period Start Pay Period End	June 16, June 30,		Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,665,000.00 \$0.00 \$1,665,000.00
Approval Date									By User
July 1, 2025			Generated and	Approv	ved (and should be co	onsidered [Draft) a	at the Project Office Level by	killib1
July 1, 2025			Reviewed and App	roved (a	and should be conside	ered Draft)	at the	Resident Engineer Level by	bollis1
July 3, 2025				Review	wed and Approved at	the Centra	al Offic	e Controllers Office Level by	ramses1
Original Completion	on Date	Current C	ompletion Date	A	ctual Completion Da	ate	9	6 of Current Contract Amount	Complete
November 1, 2	025	Noven	nber 1, 2025					85.00%	
	Contra	ct Informa	tional Dates					Milestones	
Date Description	Original Comple	tion Date	Current Completion	n Date	N	lo Mileston	es Exi	st for Contract	
Acceptance Date									
Awarded Date	September 5, 202	24	September 5, 2024						
Letting Date	August 16, 2024		August 16, 2024						
Notice to Proceed Date	October 7, 2024		October 7, 2024						
Work Began Date									

Contract Total Pa	y For Estimate No. 2				
		This Estimate	Previous	To Date	
240816-H03					
	Total Posted Items Pay	\$731,224.98	\$684,088.50	\$1,415,313.48	
	Gross Item Adjustments	(\$31,448.24)	(\$12,717.37)	(\$44,165.61)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$671,371.13	\$1,371,147.87	

Contract Total Payable This Estimate:

Items Paid This Estimate Period

\$699,776.74

Project Number	Line Number	ltem Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JST0113	0010	4071005	TACK COAT	GAL	\$2.600	7,676	\$19,957.60
	0020	6161005	CONSTRUCTION SIGNS	SQFT	\$6.500	1,342	\$8,723.00
	0100	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$70.750	8,482.630	\$600,146.07
	0110	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	TONS	\$54.500	279	\$15,205.50
	0120	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$22.000	25	\$550.00
	0160	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$78.500	1,103.730	\$86,642.81
Project JST01	13 - Total						\$731,224.98

Overall - Total

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JST0113	0020	CONSTRUCTION SIGNS	Material			-2,267	\$6.50	(\$14,735.50)
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user killib1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	8,482.63000	\$70.75	\$600,146.07
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material			-8,482.63000	\$70.75	(\$600,146.07)
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22	Other Item Adjustment	Asphalt Cement	8482.63 tons placed on estimate 2			(\$4,548.81)

\$731,224.98



Pay Estimate Created Date: July 1, 2025

Estimat	gress e Numl 2	Contract ID ber Prime Contractor	240816-H03 Pace Constructio	n Company,	LLC Pay Period End June 30, 2025 Ne	iginal Contract et Change Orde Irrent Contract	r Amount	\$1,665,000.0 \$0.0 \$1,665,000.0
Project lumber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
ST0113		(SURFACE LEVELING)		Price Adjustment				
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	C Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-10.33000	\$69.62	(\$719.15
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	F Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	111.22000	(\$1.13)	(\$125.91
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	F Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,263	(\$1.13)	(\$1,429.87
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	F Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,493.81000	(\$1.13)	(\$1,691.17
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	r Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,644.40000	(\$1.13)	(\$1,861.66)
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	F Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,955.30000	(\$1.13)	(\$2,213.63
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	F Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,014.90000	(\$1.13)	(\$2,281.11
	0110	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user killib1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	279	\$54.50	\$15,205.50
	0110	MISC.	Material			-279	\$54.50	(\$15,205.50
	0160	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	r Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user killib1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	1,103.73000	\$78.50	\$86,642.81
	0160	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material			-1,103.73000	\$78.50	(\$86,642.81
	0160	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	C Other Item Adjustment	Asphalt Cement Price Adjustment	1103.73 tons placed on estimate 2			(\$591.88
	0160	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	r Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,103.73000	(\$1.13)	(\$1,249.55
otal				1				(\$31,448.24)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informat	ion	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work	
JST0113		Resurface	H, KK, & KK	ST FRANCOIS			the south intersection of Route 67, c Route E to end of State maintenan	n Route KK from Route 51 to Route B in C ce
Totals I	oy Job N	umbers						
JST0113		d Item Pay s Item Adjustm		<mark>s Item Pay</mark>	This Estimate \$731,224.98 (\$31,448.24) \$699,776.74	Previous \$684,088.50 (\$12,717.37) \$671,371.13	To Date \$1,415,313.48 (\$44,165.61) \$1,371,147.87	
		tive centive dated Damage	•		\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	
		Contract Adju			\$0.00	\$0.00	\$0.00	



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JST0113, Item 3049910, Project Item Line Number 0110, Material Set 304991096, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	Overridden, asking for testing for compaction & PI testing, to be changed to visual cert	killib1	Overridden
Estimate Exception Type: Insufficient Materials: Project JST0113, Item 3049910, Project Item Line Number 0110, Material Set 304991096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	See Exception 1.	killib1	Overridden
Estimate Exception Type: Insufficient Materials: Project JST0113, Item 4020520, Project Item Line Number 0100, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Overriden, testing not yet input to AWP	killib1	Overridden
Estimate Exception Type: Insufficient Materials: Project JST0113, Item 4020520, Project Item Line Number 0160, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Overridden, Testing not yet put into AWP.	killib1	Overridden
Estimate Exception Type: Insufficient Materials: Project JST0113, Item 6161005, Project Item Line Number 0020, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Waiting on certs for construction signs.	killib1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240816-H03, Contract Project JST0113, Project Item Line Number 0130, Contract Line Item Number 0130, Item 4020520, Minor Item.	Item Overrun, item to be adjusted on final quantity change order.	killib1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240816-H03, Contract Project JST0113, Project Item Line Number 0100, Contract Line Item Number 0100, Item 4020520, Minor Item.	Item Overrun, item to be adjusted on final quantity change order.	killib1	Acknowledged



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

itract D	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
816-	JST0113	0001	0010	4071005	TACK COAT	18,615.00	0.00	18,615.00	GAL	14,085.00	\$2.60	\$36,621.00
		0001	0020	6161005	CONSTRUCTION SIGNS	2,286.00	0.00	2,286.00	SQFT	2,267.00	\$6.50	\$14,735.5
		0001	0030	6161025	CHANNELIZER (TRIM-LINE)	150.00	0.00	150.00	EA	0.00	\$10.00	\$0.00
		0001	0040	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$109,780.40	\$0.00
		0001	0050	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	193,269.00	0.00	193,269.00	LF	0.00	\$0.14	\$0.00
		0001	0060	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	185,219.00	0.00	185,219.00	LF	0.00	\$0.14	\$0.00
		0001	0070	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,431.00	0.00	1,431.00	SQYD	1,425.20	\$23.50	\$33,492.2
		0050	0080	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	816.70	0.00	816.70	TONS	0.00	\$44.50	\$0.0
		0050	0090	3105002	GRAVEL (A) OR CRUSHED STONE (B)	94.00	0.00	94.00	TONS	0.00	\$16.50	\$0.0
		0050	0100	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	8,472.30	0.00	8,472.30	TONS	8,482.63	\$70.75	\$600,146.0
		0051	0110	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	736.40	0.00	736.40	TONS	279.00	\$54.50	\$15,205.5
		0051	0120	3105002	GRAVEL (A) OR CRUSHED STONE (B)	113.00	0.00	113.00	TONS	25.00	\$22.00	\$550.0
		0051	0130	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	7,301.00	0.00	7,301.00	TONS	7,301.40	\$86.00	\$627,920.4
		0052	0140	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	111.80	0.00	111.80	TONS	0.00	\$74.50	\$0.0
		0052	0150	3105002	GRAVEL (A) OR CRUSHED STONE (B)	19.00	0.00	19.00	TONS	0.00	\$21.50	\$0.0
		0052	0160	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	1,112.00	0.00	1,112.00	TONS	1,103.73	\$78.50	\$86,642.8
	Project JS	6T0113 - To	otal Value	Posted to D	ate as of Report Generated Date							\$1,415,313.4
816-H	03 Overall	- Total Val	ue Poste	d to Date as	of Report Generated Date							\$1,415,313.4



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code		De	escription	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units		Location		From Station/ Log	Offset/ Distance	To Station/ Log	Offset/ Distance	•	Comments	
010	4071005	TACK	COAT		6/17/25		1	975.00	GAL	Rt H			Mile		Mile				
													17.373, LT 15.904		18.174, LT 18.174				
					6/18/25	7/1/25	1	1,470.00	GAL	Rt H			RT 15.927,		RT 17.373,				
													LT 12.700		LT 15.904				
					6/19/25	7/1/25	1	1,648.00	GAL	Rt H			RT 12.304, LT		RT 15.927, LT				
					6/20/25	7/1/05		1,420.00	CAL	Rt H			11.781 LT		12.700 LT				
					0/20/23	1/1/23		1,420.00	GAL	КП			8.692, RT		11.781, RT				
					6/23/25	6/27/25	1	1,038.00	GAL	Hwy H	l		11.866 11.866	Rt	12.304 8.692	Rt	Documental	tion in EProjects	
						6/27/25		125.00			rious locations along Hwy H		0.044		4.040			tion in EProjects	
020	6161005	CONS	STRUCTION SIGNS		6/26/25	6/27/25 7/1/25	1	1,000.00 745.00			(K Madison		0.011		1.316 1		Documenta	tion saved in EProjects	
						7/1/25	2				Madison		1		1				
100	4020520	BITUN	MINOUS PAVEMEN	T MIXTURE PG64-22 (SUR	6/17/25	//1/25	1	1,263.00	TON	S RIH			RT 17.373, LT		RT 18.174, LT				
					6/18/25	7/1/25	1	2,014.90	TONS	6 Rt H			15.904 RT		18.174 RT				
													15.927, LT 12.700		17.373, LT 15.904				
					6/19/25	7/1/25	1	1,955.30	TONS	6 Rt H			RT 12.304,		RT 15.927,				
													LT 11.781		LT 12.700				
					6/20/25	7/1/25	1	1,644.40	TONS	Rt H			LT 8.692,		LT 11.781,				
													RT 11.866		RT 12.304				
						6/27/25 6/27/25	1	1,493.81			I rious locations along Hwy H		11.866	Rt	8.692	Rt		tion made in reports saved i tion in EProjects	in Eprojects
110	3049910	MISC.	AGGREGATE FOR	RBASE	6/30/25		1				Perry/Cape/Bollinger		RT 0.016		RT 5.135		Documenta	ION IN EPIOJECIS	
						7/1/25	2	-6.00	TONS	6			RT		RT		2.1% deduc	tion for moisture content be	eing at 4.1% wit
120	3105002	GRAV	RAVEL (A) OR CRUSHED STONE (B)		6/30/25	7/1/25	1	25.00	TONS	Rt KK	Perry/Cape/Bollinger		0.016 RT		5.135 RT		2.0% as ma	ximum allowed.	
120					6/25/25	6/27/25	1	1 103 73	TONS	S Hwy k	K Madison		0.016		5.135 1.316		Documentat	tion saved in EProjects	
)120	4020520	BITUN	MINOUS PAVEMEN															,,,,,,	
160				T MIXTURE PG64-22 (SUR etails for Construction S					TON										
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	pplicabl	l e). Sign Inform	nation		Station	Log Mile	Location		r of Items	SF Eac	h Sign	Special Sign	SF Each Special Sign	Total SF to F
160 <u>e infor</u> Project	mation I	below	this line are de	etails for Construction S	igns (if a	WO8-15 PAVEME	e). Sign Inform 48x48 16 NT	nation 6.00 GROO			0.011, 1.316	Rt KK	2.00	r of Items	16.00	h Sign	Special Sign	SF Each Special Sign	3
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	WO8-15 PAVEME WO8-12 CENTER	Sign Inform 48x48 16 NT 48x48 16 LINE	nation 6.00 GROO' 6.00 NO			0.011, 1.316 0.751, 0.954, 1.150, 1.316	Rt KK	2.00 4.00	r of Items	16.00 16.00	h Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	WO8-15 PAVEME WO8-12 CENTER WO8-12 CENTER	E). Sign Inform 48x48 16 NT 48x48 16 LINE 48x48 16 LINE	nation 6.00 GROO' 6.00 NO			0.011, 1.316	Rt KK	2.00	r of Items	16.00	h Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	WO8-15 PAVEME WO8-12 CENTER WO8-12	E). Sign Inform 48x48 16 NT 48x48 16 LINE 48x48 16 LINE	nation 6.00 GROO' 6.00 NO	VED		0.011, 1.316 0.751, 0.954, 1.150, 1.316	Rt KK	2.00 4.00	r of Items	16.00 16.00	h Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	W08-15 PAVEME W08-12 CENTER W08-12 CENTER W08-12 CENTER W08-11 LANES W08-11 LANES	Line A8x48 16 48x48 16 16 48x48 16 16 48x48 16 16 48x48 16 48x48 16	aation 3.00 GROO' 3.00 NO 3.00 NO 3.00 UNEVE 3.00 UNEVE	VED EN EN		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598	Rt KK Rt KK Rt KK	2.00 4.00 4.00	r of Items	16.00 16.00 16.00	h Sign	Special Sign	SF Each Special Sign	6
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	WO8-15 PAVEME WO8-12 CENTER WO8-12 CENTER WO8-12 CENTER WO8-11 LANES WO8-11 LANES WO8-11 LANES	E). Sign Inform 48x48 16 48x48 16 LINE 48x48 16 LINE 48x48 16	ation 3.00 GROO' 3.00 NO 3.00 NO 5.00 UNEVE 5.00 UNEVE 5.00 FLAGG	VED EN EN		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316	Rt KK Rt KK Rt KK Rt KK	2.00 4.00 4.00 4.00	r of Items	16.00 16.00 16.00 16.00	h Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	W08-15 PAVEME W08-12 CENTER W08-12 CENTER W08-11 LANES W08-11 LANES W020-7 (SYMBOI GO20-4a	Sign Inform 48x48 16 WT 48x48 16 48x48 16 16 48x48 16 16 48x48 16 18 48x48 16 18 48x48 16 18 48x48 16 48x48 48x48 16 48x48	aation 6.00 GROO 6.00 NO 6.00 NO 6.00 UNEVE 6.00 FLAGG GS 1.5 PILOT (VED EN ER		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604	Rt KK Rt KK Rt KK Rt KK Rt KK	2.00 4.00 4.00 4.00 4.00	r of Items	16.00 16.00 16.00 16.00 16.00	h Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	WO8-15 PAVEME WO8-12 CENTER WO8-12 CENTER WO8-11 LANES WO8-11 LANES WO20-7 (SYMBOI GO20-4a IN USE V	(e). Sign Inform 48x48 16 NT 48x48 48x48 16 LINE 48x48 48x48 16 LINE 48x48 48x48 16 48x48 16 48x48 16 48x48 16 48x48 16 UNTH FLA 18X12 VAIT & FOLI 48x48 48x48 FOLI	nation 3.00 GROO 3.00 NO 3.00 NO 3.00 UNEVE 3.00 UNEVE 3.00 FLAGG GS 1.5 PILOT (.00	VED EN ER CAR		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756	Rt KK Rt KK Rt KK Rt KK Rt KK Rt KK	2.00 4.00 4.00 4.00 4.00 4.00	r of Items	16.00 16.00 16.00 16.00 16.00 16.00	h Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	WO8-15 PAVEME WO8-12 CENTER WO8-12 CENTER WO8-11 LANES WO8-11 LANES WO20-7 (SYMBOI GO20-4a IN USE V WO20-4 ROAD AH	Back Back Sign Inform 48x48 NT 48x48 48x48 16 LINE 48x48 48x48 16 LINE 48x48 48x48 16 L) WITH FLAL 18X12 VAIT & FOLI 48x48 48x48 16 L) WITH FLAL 18X12 VAIT & FOLI 48x48 48x48 16 JABAR 18 48x48 16 48x48 16 JABAR 16 48x48 16 48x48 16 JABAR 16 48x48 16 JABAR 16 JABAR 16	nation 3.00 GROO' 3.00 NO 3.00 NO 3.00 UNEVE 3.00 UNEVE 3.00 FLAGE GS 1.5 PILOT (.00 .00 ONE L	VED		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316	Rt KK Rt KK Rt KK Rt KK Rt KK Rt KK	2.00 4.00 4.00 4.00 4.00 4.00 2.00	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 1.50	h Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	W08-15 PAVEME W08-15 PAVEME W08-12 CENTER W08-12 CENTER W08-12 CENTER W08-11 LANES W08-11 LANES W020-7 (SYMB00 G020-4a IN USE V W020-4 ROAD AH W020-4 ROAD AH	Back Back Sign Inform 48x48 NT 48x48 48x48 16 LINE 48x48 48x48 16 LINE 48x48 48x48 16 L) WITH FLAL 18X12 VAIT & FOLI 48x48 48x48 16 L) WITH FLAL 18X12 VAIT & FOLI 48x48 48x48 16 JABAR 18 48x48 16 48x48 16 JABAR 16 48x48 16 48x48 16 JABAR 16 48x48 16 JABAR 16 JABAR 16	ation 5.00 GROO 5.00 NO 5.00 NO 5.00 UNEVE 5.00 UNEVE 5.00 FLAGG GS 1.5 PILOT (5.00 ONE L 5.00 ONE L 5.00 ONE L	VED		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625	Rt KK	2.00 4.00 4.00 4.00 4.00 4.00 2.00 4.00	r of Items	16.00 16.00 16.00 16.00 16.00 1.50 16.00	h Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	Pplicabl W08-15 PAVEME W08-12 CENTER W08-12 CENTER W08-11 LANES W08-11 LANES W08-11 LANES W020-7 (SYMB01) GO20-4a IN USE V W020-4 ROAD AH W020-4 ROAD AH W020-4 W020-4 ROAD AH W020-4 W020-5 W020-6 W020-7 W020-7 W020-7 W020-8 W020-7 W020-7 W020-7 W020-7 W020-7 W020-7	Bign Inform 48x48 10	aation .00 GROO' .00 NO .00 NO .00 UNEVE .00 UNEVE .00 FLAGG GS .00 ONE L .00 ONE L .00 ONE L .00 ONE L .00 ONE L .00 ONE L	VED		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316	Rt KK	2.00 4.00 4.00 4.00 4.00 2.00 4.00 2.00	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	h Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	WO8-15 PAVEME WO8-12 CENTER WO8-12 CENTER WO8-12 CENTER WO8-11 LANES WO8-11 LANES WO8-11 LANES WO20-7 (SYMBOL GO20-4a IN USE V WO20-4 ROAD AH WO20-4 ROAD AH WO20-1 ROAD/BF AHEAD	B). Sign Inform 48x48 16 MAT 48x48 16 48x48 16 12 48x48 16 14 48x48 16 16 RIDGE/RAM 16 16 48x48 16 16 RIDGE/RAM 16 16	aation .00 GROO' .00 NO .00 NO .00 UNEVE .00 UNEVE .00 UNEVE .00 FLAGG GS .00 FLAGG .00 ONE L .00 ONE L .00 ONE L .00 ONE L .00 ONE L .00 ONE L	VED EN		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556	Rt KK	2.00 4.00 4.00 4.00 4.00 2.00 2.00 4.00 2.00 4.00 2.00	r of Items	16.00 16.00 16.00 16.00 16.00 1.50 16.00 16.00 16.00	n Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	WO8-15 PAVEME W08-12 CENTER W08-12 CENTER W08-12 CENTER W08-12 CENTER W08-11 LANES W020-7 (SYMBOI GO20-4a IN USE V W020-1 ROAD AI W020-1 ROAD/BF AHEAD W020-1 GOAD/BF AHEAD	Bign Inform 48x48 10	aation aation a.00 GROO' a.00 NO a.00 NO a.00 UNEVE a.00 UNEVE a.00 UNEVE a.00 FLAGG GS a.00 ONE LI a.00 ONE LI a.00 ONE LI a.00 P WORK a.00 75 PLEAS	VED EN		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556	Rt KK	2.00 4.00 4.00 4.00 4.00 2.00 4.00 2.00 4.00 2.00	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	n Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	this line are de	Total Quantity Posted For DV	igns (if a	WO8-15 WO8-15 PAVEME WO8-12 CENTER WO8-12 CENTER WO8-11 LANES WO8-12 CENTER WO8-11 LANES WO20-7 (SYMBOL) GO20-4a MO20-1 WO20-4 ROAD AI WO20-4 WO20-4 ROAD AI WO20-4 GO20-4a WATERO GO20-4a WATERO GO20-4a WATERO WO20-7	B). Sign Inform Sign Inform 48x48 10 MT 48x48 10 48x48 10 10 48x48 11 10 48x48 10 10 48x48 11 10 48x48 11 10 48x48 11 12 48x48 11 13 410 10 10 410 10 10 410 10 10 410 10 10 <t< td=""><td>attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion</td><td>VED CAR CAR CAR CAR CAR CAR CAR CAR CAR CAR</td><td></td><td>0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556</td><td>Rt KK Rt KK</td><td>2.00 4.00 4.00 4.00 4.00 2.00 2.00 4.00 2.00 4.00 2.00</td><td>r of Items</td><td>16.00 16.00 16.00 16.00 16.00 1.50 16.00 16.00 16.00</td><td>Sign Sign Sign Sign Sign Sign Sign Sign</td><td>Special Sign</td><td>SF Each Special Sign</td><td></td></t<>	attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion attion	VED CAR		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556	Rt KK	2.00 4.00 4.00 4.00 4.00 2.00 2.00 4.00 2.00 4.00 2.00	r of Items	16.00 16.00 16.00 16.00 16.00 1.50 16.00 16.00 16.00	Sign Sign Sign Sign Sign Sign Sign Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	r this line are de DWR Date June 26, 2025	Total Quantity Posted For DV	igns (if a	pplicabl W08-15 PAVEME PAVEME W08-12 CENTER W08-11 LANES W08-11 LANES W08-12 (SYMBOI GO20-4a W020-4 ROAD AI W020-4 W020-4 W020-4 W020-4 W020-4 W020-4 W020-4 W020-1 W020-1 <td< td=""><td>B). Sign Inform Sign Inform 48x48 VIT 48x48 48x48 10 48x48 11 48x48 10 48x48 11 48x48 12 VITT & FOLIC 12 48x48 12 VITT & FOLIC 14 48x48 12 VITT & FOLIC 14 48x48 14 100-02F/RAM 14 48x48 14 11 14 48x48 14 12 14 14 14 14<!--</td--><td>1.00 GROO' 0.00 NO 0.00 NO 0.00 UNEVE 0.00 UNEVE 0.00 UNEVE 0.00 UNEVE 0.00 UNEVE 0.00 ONE LI 0.00 ONE LI 0.00 ONE LI 0.00 ONE LI 1.5 PILCTO 1.5 PILCTO 1.</td><td>VED CAR CAR CAR CAR CAR CAR CAR CAR CAR CAR</td><td></td><td>0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316</td><td>Rt KK</td><td>2.00 4.00 4.00 4.00 2.00 2.00 2.00 2.00</td><td>r of Items</td><td>16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 8.75</td><td>n Sign</td><td>Special Sign</td><td>SF Each Special Sign</td><td></td></td></td<>	B). Sign Inform Sign Inform 48x48 VIT 48x48 48x48 10 48x48 11 48x48 10 48x48 11 48x48 12 VITT & FOLIC 12 48x48 12 VITT & FOLIC 14 48x48 12 VITT & FOLIC 14 48x48 14 100-02F/RAM 14 48x48 14 11 14 48x48 14 12 14 14 14 14 </td <td>1.00 GROO' 0.00 NO 0.00 NO 0.00 UNEVE 0.00 UNEVE 0.00 UNEVE 0.00 UNEVE 0.00 UNEVE 0.00 ONE LI 0.00 ONE LI 0.00 ONE LI 0.00 ONE LI 1.5 PILCTO 1.5 PILCTO 1.</td> <td>VED CAR CAR CAR CAR CAR CAR CAR CAR CAR CAR</td> <td></td> <td>0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316</td> <td>Rt KK</td> <td>2.00 4.00 4.00 4.00 2.00 2.00 2.00 2.00</td> <td>r of Items</td> <td>16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 8.75</td> <td>n Sign</td> <td>Special Sign</td> <td>SF Each Special Sign</td> <td></td>	1.00 GROO' 0.00 NO 0.00 NO 0.00 UNEVE 0.00 UNEVE 0.00 UNEVE 0.00 UNEVE 0.00 UNEVE 0.00 ONE LI 0.00 ONE LI 0.00 ONE LI 0.00 ONE LI 1.5 PILCTO 1.5 PILCTO 1.	VED CAR		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316	Rt KK	2.00 4.00 4.00 4.00 2.00 2.00 2.00 2.00	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 8.75	n Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	r this line are de DWR Date June 26, 2025	Atalis for Construction S Total Quantity Posted For DV 597	igns (if a	pplicabl W08-15 PAVEME PAVEME PAVEME PAVEME W08-12 CENTER W08-11 LANES W08-11 LANES W08-11 LANES W08-11 LANES W020-1 ROADAN W020-1 ROADAN W020-1 G020-4A W020-1 G020-4A W020-7 GV020-7	B) Sign Inform Sign Inform 48x48 VABX48 16 VABX48 16 48x48 16 18x12 148x18 48x48 16 48x48 16 48x48 16 48x48 16 48x48 16 48x48 17 48x48 16 48x48 17 48x48 16	hattion 5.00 GROO' 5.00 NO 5.00 NO 5.00 UNEVE 5.00 UNEVE 5.00 UNEVE 5.00 UNEVE 5.00 UNEVE 5.00 ONE LI 5.00 ONE L	VED CAR		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.011, 0.554 0.465, 1.316	Rt KK	2.00 4.00 4.00 4.00 2.00 4.00 2.00 4.00 2.00 2	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 8.75 16.00	n Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	r this line are de DWR Date June 26, 2025	Atalis for Construction S Total Quantity Posted For DV 597	igns (if a	W08-15 W08-15 W08-12 W08-12 CENTER W08-11 LANES W08-11 LANES W08-12 (GYMB010 GO20-44 W020-4 ROAD AI W020-4 ROAD AI W020-4 W020-4 W020-4 W020-7 (SYMB00 W08-12 (SYMB00 W08-12 (SYMB10 W08-12 (SYMB10 W08-12 (SYM810 (SYM810 (SYM810 (SYM810 (SYM810	B) Sign Inform Sign Inform 48x48 VABX48 16 VABX48 16 48x48 16 18x12 148x18 48x48 16 48x48 16 48x48 16 48x48 16 48x48 16 48x48 17 48x48 16 48x48 17 48x48 16	hatton 6.00 GROO' 6.00 NO 6.00 NO 6.00 UNEVE 6.00 UNEVE 6.00 UNEVE 6.00 ONA 6.00 ONA 6.00 ONA 6.00 ONA 7.00 VORK 7.00 VORK 7.00 VORK 8.00 NO	E E E E E E E E E E E E E E E E E E E		0.011, 1.318 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.465, 1.316 8.706, 10.065, 11.265, 12.598	Rt KK	2.00 4.00 4.00 4.00 2.00 2.00 4.00 2.00 2	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	Sign Sign Sign Sign Sign Sign Sign Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	r this line are de DWR Date June 26, 2025	Atalis for Construction S Total Quantity Posted For DV 597	igns (if a	pplicabl WQ8-15 WQ8-12 WQ8-12 CENTER WQ8-11 LANES WQ8-11 LANES WQ8-11 LANES WQ8-11 LANES WQ8-11 LANES WQ8-11 WQ8-14 WQ8-14 WQ8-14 WQ8-14 WQ8-14 LANES WQ8-11 LANES WQ8-11 LANES WQ8-11 LANES	B). Sign Inform Sign Inform 48x48 VIT 48x48 48x48 10 48x48 11 48x48 <td< td=""><td>hattion 6.00 GROO' 6.00 NO 6.00 NO 6.00 NO 6.00 NO 6.00 NO 6.00 ONE LI 6.00 NO 6.00 NO</td><td>EE EE EE EE EE EE</td><td></td><td>0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.011, 0.554 0.465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586</td><td>Rt KK Rt KK</td><td>2.00 4.00 4.00 4.00 2.00 2.00 4.00 2.00 2</td><td>r of Items</td><td>16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00</td><td>I Sign</td><td>Special Sign</td><td>SF Each Special Sign</td><td></td></td<>	hattion 6.00 GROO' 6.00 NO 6.00 NO 6.00 NO 6.00 NO 6.00 NO 6.00 ONE LI 6.00 NO 6.00 NO	EE EE EE EE EE EE		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.011, 0.554 0.465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586	Rt KK	2.00 4.00 4.00 4.00 2.00 2.00 4.00 2.00 2	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	I Sign	Special Sign	SF Each Special Sign	
160 e infor Project	Line Nu	below	r this line are de DWR Date June 26, 2025	Atalis for Construction S Total Quantity Posted For DV 597	igns (if a	W08-15 W08-15 W08-12 W08-12 W08-12 CENTER W08-11 LANES W08-11 LANES W08-11 LANES W020-4 ROAD AI W020-4 ROAD AI W020-4 W020-4 W020-4 W020-4 W020-7 GO20-4A-4 W020-7 GO20-7	B) Sign Inform Sign Inform 48x48 VIT 48x48 VIT 48x48 48x48 10 48x48 11 48x48 10 48x48 10 48x48 10 48x48 10 48x48 11 10 11 48x48 11 10 11 48x48 11 11 11 12 11 13 11 14 11 14 11 14 11 14 11	hattion 1.00 GROO' 1.00 NO 1.00 NO 1.00 UNEVE 1.5 PILOT (1.5 PI	VED Construction of the second		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.011, 0.554 0.465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586 8.999, 10.944, 11.902	Rt KK	2.00 4.00 4.00 4.00 2.00 4.00 2.00 4.00 2.00 2	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	n Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	r this line are de DWR Date June 26, 2025	Atalis for Construction S Total Quantity Posted For DV 597	igns (if a	Pplicabl WO8-15 WO8-12 CENTER WO8-12 CENTER WO8-11 LANES WO8-11 LANES WO8-11 LANES WO20-1 WO3-12 CENTER WO8-12 CENTER WO8-12 WO8-12 WO8-12 WO8-12 WO8-11 UANES WO8-11 UANES WO8-11 WO8-12 WO8-11 UANES WO8-11 UANES WO8-11 UANES WO8-11 UANES WO8-11 <td>B) Sign Inform Sign Inform 48x48 VIT 10 48x48 11 48x48 11<</td> <td>hatton hatton 1.00 GROO' 1.00 NO 1.00 NO 1.00 UNEVE 1.00 UNEVE 1.00 ONE L 1.00 ONE L 1.00 ONE L 1.00 ONE L 1.00 ONE L 1.00 NO 1.00 NO</td> <td>VED Construction of the second second</td> <td></td> <td>0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.546, 1.316 0.011, 0.554 0.465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894</td> <td>Rt KK Rt KK</td> <td>2.00 4.00 4.00 4.00 2.00 4.00 2.00 2.00</td> <td>r of Items</td> <td>16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00</td> <td>h Sign</td> <td>Special Sign</td> <td>SF Each Special Sign</td> <td></td>	B) Sign Inform Sign Inform 48x48 VIT 10 48x48 11 48x48 11<	hatton hatton 1.00 GROO' 1.00 NO 1.00 NO 1.00 UNEVE 1.00 UNEVE 1.00 ONE L 1.00 ONE L 1.00 ONE L 1.00 ONE L 1.00 ONE L 1.00 NO 1.00 NO	VED Construction of the second		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.546, 1.316 0.011, 0.554 0.465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894	Rt KK	2.00 4.00 4.00 4.00 2.00 4.00 2.00 2.00	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	h Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	r this line are de DWR Date June 26, 2025	Atalis for Construction S Total Quantity Posted For DV 597	igns (if a	pplicabl W08-15 PAVEHA W08-12 PAVEHA W08-12 CENTER W08-11 LANES W08-12 CENTER W08-11 LANES W08-11 LANES W08-11 LANES W020-4 ROAD AI W020-4 W020-4 W020-4 W020-1 W08-11 LANES W020-1 W03-12 LANES W020-7 (SYMBOU W03-12 LANES W03-11 LANES	B) Sign Inform Sign Inform 48x48 48x48 10 48x48 11 48x48 1	hatton hatton 6.00 GROO' 6.00 NO 6.00 NO 6.00 NO 6.00 NO 6.00 NO 6.00 NO 6.00 ONE LI 6.00 ONE LI 6.00 ONE LI 6.00 NO 6.00 NO	EN CARE		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.011, 0.554 0.465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894	Rt KK	2.00 4.00 4.00 4.00 2.00 2.00 4.00 2.00 2	r of Items	16.00 16.00 16.00 16.00 16.00 1.50 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	n Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	r this line are de DWR Date June 26, 2025	Atalis for Construction S Total Quantity Posted For DV 597	igns (if a	pplicabl W08-15 PAVEME W08-12 CENTER W08-11 LANES W08-11 LANES W08-12 CENTER W08-11 LANES W08-11 LANES W08-11 W08-11 LANES W020-1 GO20-4a W020-1 GO20-4a W020-1 GO20-4a W020-1 GO20-4a W020-1 GSWMBOI W020-2 GSYMBOI W020-1 W03-11 LANES W020-1 W03-11 LANES W020-7 GYMBOI W020-7 GYMBOI W020-7 GYMBOI W020-7 GYMBOI W020-7 GYMBOI W020-7 G	B). Sign Inform Sign Inform 48x48 10 VIT 48x48 10 48x48 10 10x17 6 FOLI 18x12 10x17 6 FOLI 48x48 10 48x48 11 48x48 10 10 10x17 6 FOLI 48x48 10 48x48 10 10 10x17 6 FOLI 48x48 10 48x48 10 48x48 10 48x48 10 48x48 10 48x48 10 48x48 10 48x48 10 48x48 10 48x48 10 48x48 10 48x48 10 10 48x48 10 48x48 10 10 10 10 10 10	hallon hallon 1.00 GROO' 1.00 NO 1.00 NO 1.00 UNEVE 1.00 ONE L 1.00 ONE L 1.00 ONE L 1.00 ONE L 1.00 ONE L 1.00 NO 1.00 NO 1.	EN ESER ESER ESER ESER ESER ESER ESER ES		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.20, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.554, 0.1554 0.465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894 12.900, 13.895, 14.906, 15.944 67, 67, 17.718, 15.400	Rt KK Rt H	2.00 4.00 4.00 4.00 2.00 4.00 2.00 4.00 2.00 2	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	n Sign	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	r this line are de DWR Date June 26, 2025	Atalis for Construction S Total Quantity Posted For DV 597	igns (if a	W028-15 W028-15 W028-12 W028-12 CENTER W028-11 LANES W028-11 W028-11 LANES W028-11 W028-11 W028-11 W028-11 W028-12 W028-14 W028-14 W028-14 W028-14 W028-12 W028-14 W028-12 CENTER W028-12 W028-12 W028-12 W028-12 W028-12 W028-12 W028-11 W028-12 W028-12 W028-12 W028-14 W028-12 W028-14 W028-11 W028-	B). Sign Inform Sign Inform 48x48 16 NT 48x48 16 48x48 11 48x48 16 48x48 16 48x48 16 48x48 16 48x48 16 48x48 16 48x48 16 18x12 10x117 FOLI 18x12 48x48 16 48x48 16 10x117 FLO 48x48 16 11NE 48x48 16 10 48x48 16 48x48 16 11NE 48x48 16 48x48 16 11NE 48x48 16 48x48 16 11NT FLC 48x48 16 48x48 16 11NT <td>hatton hatton 1.00 GROO' 1.00 NO 1.00 NO 1.</td> <td>EN E EN E EN E EN E E E E E E E E E E E</td> <td></td> <td>0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.546, 1.316 0.011, 0.554 0.465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894 12.900, 13.895, 14.906, 15.944 67, 67, 17.718, 15.400</td> <td>Rt KK Rt H Rt H</td> <td>2.00 4.00 4.00 4.00 2.00 4.00 2.00 4.00 2.00 2</td> <td>r of Items</td> <td>16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00</td> <td>I Sign I Sign I</td> <td>Special Sign</td> <td>SF Each Special Sign</td> <td></td>	hatton hatton 1.00 GROO' 1.00 NO 1.00 NO 1.	EN E EN E EN E EN E E E E E E E E E E E		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.546, 1.316 0.011, 0.554 0.465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894 12.900, 13.895, 14.906, 15.944 67, 67, 17.718, 15.400	Rt KK Rt H	2.00 4.00 4.00 4.00 2.00 4.00 2.00 4.00 2.00 2	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	I Sign I	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	r this line are de DWR Date June 26, 2025	Atalis for Construction S Total Quantity Posted For DV 597	igns (if a	pplicabl W08-15 PAVEME W08-12 CENTER W08-11 LANES W08-11 LANES W08-11 LANES W08-11 LANES W08-11 LANES W08-11 LANES W020-1 ROADAB W020-1 ROADAB W020-1 GO20-4a W020-1 GO20-4a W020-1 GO20-4a W020-1 GYMBOI W020-7 GYMBOI W08-11 LANES W020-7 GYMBOI W020	B). Sign Inform Sign Inform 48x48 10 NT 48x48 11 48x48 11 118x12 118x12 10x17 & FOLI 48x48 11 48x48 11 48x48 11 48x48 10 48x48 10	nation nation 1.00 GROO' 1.00 GROO' 1.00 NO 1.00 UNEVE 1.00 VORK 775 PLEASI 1.00 PLAGG 1.00 VORK 1.00 UNEVE	EN E EN E EN E EN E E E E E E E E E E E		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.011, 0.554 0.0465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894 12.900, 13.895, 14.906, 15.944 67, 67, 17.718, 15.400 16.500, 15.423, 10.223, 9.463 67, 67, 17.500, 15.270 15.270, 16.60, 15.470, 10.483	Rt KK Rt H Rt 67/Rt H Rt H Rt 67/Rt H	2.00 4.00 4.00 4.00 2.00 2.00 2.00 2.00	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	I Sign I	Special Sign	SF Each Special Sign	
160 <u>e infor</u> Project	Line Nu	below	r this line are de DWR Date June 26, 2025	Atalis for Construction S Total Quantity Posted For DV 597	igns (if a	pplicabl W08-15 PAVEME W08-12 CENTER W08-11 LANES W08-11 LANES W08-11 LANES W08-11 LANES W08-11 LANES W08-11 LANES W020-1 ROADAB W020-1 ROADAB W020-1 GO20-4a W020-1 GO20-4a W020-1 GO20-4a W020-1 GYMBOI W020-7 GYMBOI W08-11 LANES W020-7 GYMBOI W020	B). Sign Inform Sign Inform 48x48 16 NT 48x48 16 48x48 11 48x48 16 48x48 16 48x48 16 48x48 16 48x48 16 48x48 16 48x48 16 18x12 10x117 FOLI 18x12 48x48 16 48x48 16 10x117 FLO 48x48 16 11NE 48x48 16 10 48x48 16 48x48 16 11NE 48x48 16 48x48 16 11NE 48x48 16 48x48 16 11NT FLC 48x48 16 48x48 16 11NT <td>nation nation 1.00 GROO' 1.00 GROO' 1.00 NO 1.00 UNEVE 1.00 VORK 775 PLEASI 1.00 PLAGG 1.00 VORK 1.00 UNEVE 1.00 UNEVE</td> <td>EN E EN E EN E EN E E E E E E E E E E E</td> <td></td> <td>0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 R1E, R1E, 0.011, 0.756 0.865, 1.316 R1E, R1E, 0.011, 0.625 0.501, 1.316 R1E, R1E, 0.011, 0.556 0.546, 1.316 0.546, 1.316 0.011, 0.554 0.465, 1.316 8.706, 10.065, 11.265, 12.598 13.638, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894 12.900, 13.895, 14.906, 15.944 67, 67, 17.718, 15.400 16.500, 15.423, 10.223, 9.463 67, 67, 17.500, 15.270</td> <td>Rt KK Rt H Rt H</td> <td>2.00 4.00 4.00 4.00 2.00 4.00 2.00 4.00 2.00 2</td> <td>r of Items</td> <td>16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00</td> <td>n Sign</td> <td>Special Sign</td> <td>SF Each Special Sign</td> <td></td>	nation nation 1.00 GROO' 1.00 GROO' 1.00 NO 1.00 UNEVE 1.00 VORK 775 PLEASI 1.00 PLAGG 1.00 VORK 1.00 UNEVE	EN E EN E EN E EN E E E E E E E E E E E		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 R1E, R1E, 0.011, 0.756 0.865, 1.316 R1E, R1E, 0.011, 0.625 0.501, 1.316 R1E, R1E, 0.011, 0.556 0.546, 1.316 0.546, 1.316 0.011, 0.554 0.465, 1.316 8.706, 10.065, 11.265, 12.598 13.638, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894 12.900, 13.895, 14.906, 15.944 67, 67, 17.718, 15.400 16.500, 15.423, 10.223, 9.463 67, 67, 17.500, 15.270	Rt KK Rt H	2.00 4.00 4.00 4.00 2.00 4.00 2.00 4.00 2.00 2	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	n Sign	Special Sign	SF Each Special Sign	
160	Line Nu	below	r this line are de DWR Date June 26, 2025	Atalis for Construction S Total Quantity Posted For DV 597	igns (if a	Pplicabl W08-15 PAVEME W08-12 PAVEME W08-12 CENTER W08-11 LANES W08-11 LANES W08-11 LANES W08-11 LANES W020-1 ROADAI W020-1 ROADAI W020-1 ROADAI W020-1 ROADAI W020-1 G020-4A W020-1 G020-4A W020-1 G020-4A W020-7 G020-4A W03-11 LANES W020-7 GSYMBOI W020-1 W020-1 GSYMBOI W020-1 W020-1 W020-1 W020-1 W020-1 W020-1 W020-1 W020-1 W020-1 <td< td=""><td>B). Sign Inform Sign Inform 48x48 10 NT 48x48 11 48x48 11 118x12 118x12 10x17 & FOLI 48x48 11 48x48 11 48x48 11 48x48 10 48x48 10 48x48 10 48x48 10</td><td>nation nation nation nation nation nation non non<!--</td--><td>EN E EN E EN E EN E E E E E E E E E E E</td><td></td><td>0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.011, 0.554 0.0465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894 12.900, 13.895, 14.906, 15.944 67, 67, 17.718, 15.400 16.500, 15.423, 10.223, 9.463 67, 67, 17.500, 15.270 15.270, 16.60, 15.470, 10.483</td><td>Rt KK Rt H Rt 67/Rt H Rt H Rt 67/Rt H</td><td>2.00 4.00 4.00 4.00 2.00 2.00 2.00 2.00</td><td>r of Items</td><td>16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00</td><td>N Sign </td><td>Special Sign</td><td>SF Each Special Sign</td><td></td></td></td<>	B). Sign Inform Sign Inform 48x48 10 NT 48x48 11 48x48 11 118x12 118x12 10x17 & FOLI 48x48 11 48x48 11 48x48 11 48x48 10 48x48 10	nation nation nation nation nation nation non non </td <td>EN E EN E EN E EN E E E E E E E E E E E</td> <td></td> <td>0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.011, 0.554 0.0465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894 12.900, 13.895, 14.906, 15.944 67, 67, 17.718, 15.400 16.500, 15.423, 10.223, 9.463 67, 67, 17.500, 15.270 15.270, 16.60, 15.470, 10.483</td> <td>Rt KK Rt H Rt 67/Rt H Rt H Rt 67/Rt H</td> <td>2.00 4.00 4.00 4.00 2.00 2.00 2.00 2.00</td> <td>r of Items</td> <td>16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00</td> <td>N Sign </td> <td>Special Sign</td> <td>SF Each Special Sign</td> <td></td>	EN E EN E EN E EN E E E E E E E E E E E		0.011, 1.316 0.751, 0.954, 1.150, 1.316 0.011, 0.225, 0.365, 0.598 0.748, 0.968, 1.120, 1.316 0.011, 0.265, 0.384, 0.604 Rt E, Rt E, 0.011, 0.756 0.865, 1.316 Rt E, Rt E, 0.011, 0.625 0.501, 1.316 Rt E, Rt E, 0.011, 0.556 0.546, 1.316 0.011, 0.554 0.0465, 1.316 8.706, 10.065, 11.265, 12.598 13.636, 14.950, 16.132, 17.586 8.956, 9.899, 10.944, 11.902 16.932, 17.894 12.900, 13.895, 14.906, 15.944 67, 67, 17.718, 15.400 16.500, 15.423, 10.223, 9.463 67, 67, 17.500, 15.270 15.270, 16.60, 15.470, 10.483	Rt KK Rt H Rt 67/Rt H Rt H Rt 67/Rt H	2.00 4.00 4.00 4.00 2.00 2.00 2.00 2.00	r of Items	16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00 16.00	N Sign	Special Sign	SF Each Special Sign	



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable),

	nuclon below	und nic are e	ictuits for construction orgins (in a	pproduct								
Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
JST0113	0020	June 26, 2025	745	WO8-15 48x48 16.00 GROOVED PAVEMENT		8.699, 8.722, 18.223, 18.150	Rt H	4.00	16.00			64.00
				GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		18.045, 8.920, 10.562, 11.457	RtH	4.00	1.50			6.00
	0020 - Total											1341.5



Line Item Adjustments by Estimate

Jul 4, 2025

Contract ID: 240816-H03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JST0113	0010	TACK COAT	Material		1	Jun 16, 2025	SYSTEM	(\$16,663.40)	
					1	Jun 16, 2025	SYSTEM	\$16,663.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user killib1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0010 -	Total						\$0.00	
	0020	CONSTRUCTION SIGNS	Material		2	Jul 1, 2025	SYSTEM	(\$14,735.50)	
				- Total				(\$14,735.50)	
			Material - To	otal				(\$14,735.50)	
	0020 -							(\$14,735.50)	
	0100	BITUMINOUS PAVEMENT MIXTURE	Material		2	Jul 1, 2025	SYSTEM	(\$600,146.07)	
		PG64-22 (SUR			2	Jul 1, 2025	SYSTEM	\$600,146.07	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user killib1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	2	Jul 1, 2025	killib1	(\$4,548.81)	8482.63 tons placed on estimate 2
				ACAD - Tot	al			(\$4,548.81)	
			Other Item /	Adjustment -	Total			(\$4,548.81)	
			Overrun	Overrun	2	Jul 1, 2025	SYSTEM	(\$719.15)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$719.15)	
			Overrun - T	otal	_			(\$719.15)	
			Price FUEL		2	Jul 1, 2025	SYSTEM	(\$9,603.35)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$9,603.35)	
			Price FUEL	- Total				(\$9,603.35)	
	0100 -	Total						(\$14,871.31)	
	0110	MISC. AGGREGATE FOR BASE	Material		2	Jul 1, 2025	SYSTEM	(\$15,205.50)	
		TORBAGE			2	Jul 1, 2025	SYSTEM	\$15,205.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user killib1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0110 -							\$0.00	
	0130	BITUMINOUS PAVEMENT MIXTURE	Material		1	Jun 16, 2025	SYSTEM	(\$627,920.40)	
		PG64-22 (SUR			1	Jun 16, 2025	SYSTEM	\$627,920.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user killib1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00	
			Other Item Adjustment	ACAD	1	Jun 16, 2025	bollis1	(\$4,417.35)	7,301.40 tons placed on estimate 1
				ACAD - Tot				(\$4,417.35)	
			Other Item	Adjustment -	Total			(\$4,417.35)	
			Overrun	Overrun	1	Jun 16, 2025	SYSTEM	(\$33.95)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$33.95)	
			Overrun - T	otal				(\$33.95)	



Line Item Adjustments by Estimate

Jul 4, 2025

Contract ID: 240816-H03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JST0113	0130	BITUMINOUS PAVEMENT MIXTURE	Price FUEL	- Total				(\$8,266.07)	
		PG64-22 (SUR	Price FUEL	- Total				(\$8,266.07)	
	0130 -	Total						(\$12,717.37)	
	0160	BITUMINOUS PAVEMENT	Material		2	Jul 1, 2025	SYSTEM	(\$86,642.81)	
		MIXTURE PG64-22 (SUR			2	Jul 1, 2025	SYSTEM	\$86,642.81	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user killib1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	2	Jul 1, 2025	killib1	(\$591.88)	1103.73 tons placed on estimate 2
				ACAD - Tot	al			(\$591.88)	
			Other Item	Adjustment -	Total			(\$591.88)	
			Price FUEL		2	Jul 1, 2025	SYSTEM	(\$1,249.55)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$1,249.55)	
			Price FUEL	- Total				(\$1,249.55)	
	0160 -	Total						(\$1,841.43)	
JST0113 -	Total							(\$44,165.61)	
Overall -	Total							(\$44,165.61)	



There are no contract adjustments to display for this contract.